

(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

Ref.No. CGBA/2022/005

Dt.04/08/2023

Official Circular

Yonex-Sunrise 22nd CG State Sub Junior (U-15 & U-17 Boys & Girls) Badminton Championships-2023

Organizer :: Chhattisgarh Badminton Association, Raipur

Sanctioned by :: Chhattisgarh Badminton Association

Dates :: 16-Aug-2023 to 20-Aug-2023

Qualifying: 16-Aug-2023 & 17-Aug-2023 Main Draw: 18-Aug-2023 to 20-Aug-2023

Venue :: iSportz Badminton Arena

Dubey Colony, Mowa Raipur, Chhattisgarh

Prize Money :: Rs. 1,88,000.00 (Rs. One lakh Eighty Eight thousand only)

Shall be paid to the players.

S.No	CATEGORY	WINNER	RUNNER	Semi-finalist	Qtr. Finalist
1	U15GS	6000.00	4000.00	2000 X 2=4000	1000 X 4 = 4000
2	U15BS	6000.00	4000.00	2000 X 2=4000	1000 X 4 = 4000
3	U15GD	7000.00	5000.00	2000 X 2=4000	***
4	U15BD	7000.00	5000.00	2000 X 2=4000	***
5	U15XD	7000.00	5000.00	2000 X 2=4000	***
6	U17GS	8000.00	6000.00	2000 X 2=4000	1000 X 4 = 4000
7	U17BS	8000.00	6000.00	2000 X 2=4000	1000 X 4 = 4000
8	U17GD	9000.00	7000.00	2000 X 2=4000	***
9	U17BD	9000.00	7000.00	2000 X 2=4000	***
10	U17XD	9000.00	7000.00	2000 X 2=4000	***
Total:		76000.00	56000.00	40000.00	16000.00
Grand Total: (Rs. One lakh Eighty Eight thousand only)			1,88,000.00		



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

Event :: Under-15: Boys Singles, Girls Singles, Boys Doubles, Girls Doubles & Mix Doubles.

Under-17: Boys Singles, Girls Singles, Boys Doubles, Girls Doubles & Mix Doubles.

The maximum draw size of the Main Draw shall be as under:

Referee should adhere this rule strictly.

There shall not be any restriction on the size of qualification draw.

Event Max.		Top 8 (Boys + Girls - Singles) &	Winner of Respective	Qualifiers
Draw		Top 4 (Boys + Girls - Doubles)	affiliated unit in their	
	Size	Top 4 (Mix Doubles) of 21st CG	Distt. Championship /	
		state Tournament held at Korba	Selection Trials -2023	
		in NOV-2022		
Boys Singles	32	8	18	6
Boys Doubles	16	4	***	12
Girls Singles	32	8	18	6
Girls Doubles 16		4	***	12
Mix Doubles	16	4	***	12

Age of eligibility :: Born on or after 01st January-2009 (Under 15 years)

Born on or after 01st January-2007 (Under 17 years)

Entries Closing Date :: Thursday, 10th AUGUST 2023

Entries shall not be accepted without CGBA ID.

The Entries shall be received by CGBA as per the existing system with a copy to Org. Secretary. The entries are to be received through Affiliated Units only at entry.cgba@gmail.com. (Direct entries from the Players are not valid).

Entries shall be sent in the following format. Preferably in excel format.

Qualification Round					
S.No	lo Event Name CGBA				
Main Draw					
S.No	Event	Name	CGBA Player ID		



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

Doubles Entry :: Districts forwarding names for Doubles Partnering player from different

districts should have NOC or otherwise names of same pair should come from both the districts failing which the entry will not be considered and the entry

fee will be forfeited.

Entry Fee :: The entry fees that for qualifying participants shall be as follows.

Singles event of all categories: Rs. 500/Doubles event of all categories: Rs. 1000/-

Players selected to participate in the main draw directly shall not be liable to

pay any entry fees for such event.

The host organizers shall be responsible for collection of entry fee from the

players.

Registration Fee :: The registration fee is mandatory for all the players once in every year.

Registration Fee is Rs.220/- per player. Payment must be paid ONLINE through CGBA website before the commencement of the State Tournament.

Mode of Competition: All the matches in the main and qualifying draw shall be played best of three

games of 21 points on a rally point system. However if the number of entries are more than expectation, the Referee in consultation with the Organizing Committee and the Observer, CGBA may take the decision to conduct the qualifying round matches in best of Three (3) games of 15 points each with

extension of 21 points.

Regulations :: The BAI competition regulations & General competition regulations shall be

applicable.

Clothing Regulations :: Players must comply with General competition regulations.

M&Q :: M&Q list published on Dated 11th August 2023.

At the close of entries, the Tournament Planner will provide the list of Participants. The list of participants in order of strength will be displayed on CGBA web site. It shall be the responsibility of the Affiliated Unit and the players to ensure that all the entries forwarded by the affiliated units appear in the M&Q (Main & Qualifying) list. No complaints shall be entertained for miss out of any entry. CGBA will not be responsible for any omissions of names. After close of entries additional entries are not permitted.



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

Withdrawals

::

12th August 2023

If there are any withdrawals after the close of entries, it shall be intimated to CGBA immediately by the Affiliated Units/ player before the closing date of withdrawal. Any player failing to participate in any CGBA approved tournaments after draw is made, is liable to pay Rs:500/- for each event (Rs. five hundred only) fine to CGBA before participating in next tournament. No exemption under any grounds (including medical) will be allowed in payment of fine. No player is permitted to Participation the next tournament without paying fine.

Referee shall submit the withdrawal list to CGBA within 24 hours after Completion of the tournament. On receipt of the list Member Associations concerned shall collect the fine amount and forward to the Associations concerned.

Draw

:: Draw will be made on 14th August 2023.

Protest

:: The fees for lodging protest of any kind shall be Rs. 500/-. This fee shall be retained by the organizers of the event. Any protest shall be addressed to the Hon. Secretary, CGBA in writing within one hour after completion of the match or 04 hours before commencement of the match.

Disciplinary Committee ::

A disciplinary committee consisting of three members is deployed by CGBA to look after the behavior of players on court as well as off court. The Committee members are:

- a) Observer nominated by CGBA
- b) Tournament Referee, CGBA
- c) Org. Secretary of Host association.

Disciplinary actions ::

- a) Level 01 offence: Fine of Rs 500/- to Rs.1000/-
- b) Level 02 Offence: Fine of Rs. 2000/- &/OR Disqualified from tournament
- c) Level 03 Offence: Fine of Rs.3000/- &/OR debar from CGBA for 6 month to 03 years & player cannot participate in any National tournament of BAI.



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

Technical Officials ::

The Court Officials shall be nominated by CGBA.

Referee : 01

Dy. Referee / Match Control : 01

Umpire : 06

In addition to the Referee(s) nominated above, the Host Organizers shall nominate one Table official, one Announcer, & one media relation officer with required line judges (minimum 04 per court) to assist the Referee during tournament.

Other Points ::

- a) The players participating in qualifying rounds have to make their own arrangement of lodging & boarding.
- b) All the players of Main Draw will be provided free lodging, boarding and transportation facilities by the host association as per the rule of CGBA.
- c) Technical Officials will be provided free lodging, boarding and transportation facilities along with officiating allowances by the host association as per the rule of CGBA. (Annex-A)
- d) Winners & Runners of each category shall entitle for TA / DA as per CGBA rules.
- e) Observer/Officials nominated by CGBA shall entitle for TA / DA as per CGBA rules. (Annex-B)
- f) Entries shall be sent through the Official E-mail ID of the Designated Distt. Secretary of the affiliated Association. No Entry shall be considered / accepted which is sent through any other means of media like whatsapp etc.
- g) Minimum 06 (Six) entries are mandatory to conduct the particular event.
- h) A Player can participate in maximum of 03 events.

Yours faithfully

(Sanjay Mishra) Hon. Secretary, CGBA.



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

For any queries, please contact

Sanjay Bhansali: 9479440000 Kavita Dixit: 9755347847 Pratap Bhattacharya: 9826160723

"Annexure-A" Facilities to be provided to the Tech. Official by the Host Association

Honorary Referee				
Travelling	3 rd AC both ways Rail Fare / Bus Fare			
Officiating Allowance	Rs. 1150/- per day + one day extra			
Lodging & Boarding	Free Lodging, Boarding & Local Transport for Tournament days			
Dy.Referee / Match Control				
Travelling	Sleeper Class both ways Rail Fare / Bus Fare			
Officiating Allowance	Rs. 950/- per day + one day extra			
Lodging & Boarding	Free Lodging, Boarding & Local Transport for Tournament days			
National/State Umpire				
Travelling	Sleeper Class both ways Rail Fare / Bus Fare			
Officiating Allowance	For National Umpire: Rs. 850/- per day + one day extra			
Officiating Allowance	For State Umpire: Rs. 750/- per day + one day extra			
Lodging & Boarding	Free Lodging, Boarding & Local Transport for Tournament days			

"Annexure-B" Facilities to be provided to the Observer / CGBA Representative by the Host Association

Travelling	3 rd AC both ways Rail Fare /Bus Fare		
Officiating Allowance	Rs. 1150/- per day		
Lodging & Boarding	Free Lodging, Boarding & Local Transport for Tournament days		



(Registered Society Affiliated to Badminton Association of India)

Reg. No. 6310 Dated: 25-08-2000

President Anwar Dhebor 7999451423 Hon. Secretary Sanjay Mishra 9406010483 Hon. Treasurer Sanjay Bhansali 9479440000

"Annexure-C"

List of eligible Players for Main Draw according to 21st CG State Sub-junior Badminton Championship-2022 at Korba in the month of 02 to 06 Novemver-2023

S.No	Player's Name	Distt.	Player's Name	Distt.
	U15BS		U15GS	
1	Vaibhav Singh BLS		Rewaraje Verma	RPR
2	Manveer Singh Arora	RPR	Gouri S Iyer	DURG
3	**		Manya Gupta	RPR
4	**		Aarna Shrivastava	BLS
5	**		Tishya Mukta	RPR
	U15BD		U15GD	
6	**		Gouri S Iyer & Shreya Komiya	DURG+BLD
7	**		Aarna Srivastava & Devika Khatri	BLS
8	**		Aarushi Alwa & Saanvi Chhatre	RPR
	U17BS		U17GS	
9	Rounak Chouhan (WC) UCR		Tanoo Chandra	UCR
10	Saurav Sahu	UCR	Ishika Poddar	RPR
11	Akshaydutt Mishra	RPR	Aarna Srivastava	BLS
12	Aditya Pandey	BLS	Shweta Pardesi	RPR
13	Divyansh Agrawal	RPR	Shriya Komiya	BLD
14	Jinesh Surana	RPR	Rashi Mall	RPR
	U17BD		U17GD	
15	Rounak Chouhan & Saurav Sahu	UCR	Ishika Poddar & Shweta Pardesi	RPR
	U15XD		U17XD	
16	Atharva Sharma & Manya Gupta RPR		Saurav Sahu & Tanoo Chandra	UCR
17	Sushant Uike & Tejaswi Singh	RPR	**	